
R
E

S
E

A
R

C
H

D
E

V
E

LO
P

M
E

N
T

&
R
E
V:

PA
R
T N

O
.:

M
ATE

R
IA
L:

N
O
TE

: A
LL B

R
A
K
E
S
 A

R
E
 90º

U
N
LE

S
S
 O

TH
E
R
W
IS
E
 S

P
E
C
IFIE

D
O
R
IG

IN
A
L

R
E
LE

A
S
E
 N

O
.:

D
ATE

:

M
O
D
E
LE

D
 B

Y:

N
O
 R

E
V
IS
IO

N
 TO

 D
E
S
IG

N
, M

ATE
R
IA
L, TO

O
LIN

G
, O

R
 P

R
O
C
E
S
S
 IS

 A
C
C
E
P
TA

B
LE

 W
ITH

O
U
T P

R
IO

R
 A

P
P
R
O
VA

L FR
O
M
 R

H
E
E
M
 TH

R
O
U
G
H
 A

N
 A

U
TH

O
R
IZ
E
D
 C

H
A
N
G
E
 N

O
TIC

E
, A

 R
E
V
IS
E
D
 E

N
G
IN
E
E
R
IN
G
 S

P
E
C
IFIC

ATIO
N
 

A
N
D
 A

 R
E
S
A
M
P
LIN

G
 O

F PA
R
TS

. TH
E
 S

U
P
P
LIE

R
 IS

 R
E
S
P
O
N
S
IB
LE

 FO
R
 N

O
TIFY

IN
G
 R

H
E
E
M
 R

 &
 D

 A
N
D
 P

U
R
C
H
A
S
IN
G
 D

E
PA

R
TM

E
N
TS

 IN
 W

R
ITIN

G
 O

F A
N
Y
 C

H
A
N
G
E
S
 A

FFE
C
TIN

G
 P

R
O
D
U
C
T Q

U
A
LITY, 

P
E
R
FO

R
M
A
N
C
E
, R

E
LIA

B
ILITY, PA

C
K
A
G
IN
G
, D

E
LIV

E
R
Y
 O

R
 W

O
R
K
M
A
N
S
H
IP. “A

N
Y
 D

O
C
U
M
E
N
TS

 R
E
FE

R
R
E
D
 TO

 O
N
 TH

IS
 D

R
A
W
IN
G
 A

R
E
 IN

C
LU

D
E
D
 IN

 TH
E
 S

P
E
C
IFIC

ATIO
N
S
 FO

R
 TH

IS
 C

O
M
P
O
N
E
N
T”.  

S
TA

N
D
A
R
D
 TO

LE
R
A
N
C
E

U
N
LE

S
S
 O

TH
E
R
W
IS
E
 S

P
E
C
IFIE

D
:

-FR
A
C
TIO

N
A
L: 

±
1/32

-A
N
G
U
LA

R
: 

+
1° −

3°
-D

E
C
IM

A
L: 

±
.030

-D
IM

E
N
S
IO

N
S
 IN

 (  ) R
E
F. O

N
LY

V
E
N
D
O
R
:

R
E
LIA

B
. E

N
G
R
.:

A
P
P
R
O
V
E
D
:

C
H
E
C
K
E
D
:

THIS DRAWING USED AS A GRAPHICAL REPRESENTATION ONLY AND
IT MAY NOT APPEAR EXACTLY LIKE YOUR SPECIFIC UNIT.

NOTE: UNIT MAY BE TURNED 90° ON PAD FROM WHAT IS SHOWN.

00

TEW
03-12-15

Ø .313”
HOLE

10.000”
REFERENCE

.750”

1.000”

.500”

Ø .313”  TYP.
CLEARANCE

HOLE OR SLOT

APPLICABLE MODELS:
*A1648 *A1660 *A1760 *A2048 *A2060

*P1560 *P1760 *P2048 *P2060

MIAMI TECH BRACKET
MODEL CUTDA10 OR CUTD10 OR EQUIVALENT
MIAMI TECH KIT #: RRCUTDLK OR RRCUTDALK

MINIMUM 14 GAUGE THICK GALVANIZED STEEL OR ALUMINUM

GROUND MOUNTED
ASCE 7-05

140 MPH WIND VELOCITY
ASCE 7-10

180 MPH WIND VELOCITY

UNIT
LENGTH 35.75”

UNIT
WIDTH 35.75”

.3063”

.3063”

1.250”

DETAIL A DETAIL B
TYPICAL

(2) PLACES

(1) 1/4”  TAPCON
SCREW 1-3/4” LONG

PER BRACKET

(4) #10 x 3/4”
SHEET METAL SCREW

PER BRACKET

UNIT
BASE PAN

LOUVER
PANEL

CONCRETE
PAD

DETAIL C

(1) 1/4”  TAPCON
SCREW 1-3/4” LONG

PER BRACKET

(4) #10 x 3/4”
SHEET METAL SCREW

CONCRETE
PAD

UNIT
BASE PAN

POST BY
CONTROL BOX

MIN. PAD
LENGTH 44” MIN. PAD

WIDTH 40”

3” MIN

SEE DETAIL A

SEE DETAIL B

3” MIN

REPLACE EXISTING
#8 SCREWS WITH

#10 X 3/4” SCREWS

REPLACE EXISTING
#8 SCREWS WITH

#10 X 3/4” SCREWS

REPLACE EXISTING
#8 SCREWS WITH

#10 X 3/4” SCREWS

4” MIN.
CONCRETE PAD

THICKNESS

UNIT HEIGHT
45” - 51”

BOTTOM SCREW
OPTIONAL FOR
45” TALL UNITS

BOTTOM SCREW
OPTIONAL FOR
45” TALL UNITS

SEE DETAIL C

SEE DETAIL B

ADD (2) #10 x 3/4”
SHEET METAL SCREWS

ADD (2) #10 x 3/4”
SHEET METAL SCREWS

REPLACE EXISTING
#8 SCREWS WITH

#10 X 3/4” SCREWS

ADD (2) #10 x 3/4”
SHEET METAL SCREWS

ADD (2) #10 x 3/4”
SHEET METAL SCREWS

LA
RG

E FO
O

TPRIN
T CO

N
CRETE PA

D
 M

O
U

N
TED

W
IN

D
 A

N
D

 SEISM
IC RESISTA

N
T TIE D

O
W

N
45” - 51”  TA

LL CA
BIN

ETS
92-105518-04

92-105518-04-00

Y-0674S000

D
M

J


